FT8EIERAR—YREI VT IV AR TEER

H B: 2024%F 2A25H(A) I fE: IRV I ZRES
= 15 HRETTHEFIART=—Xd—k ¥ & BREEMYVIN S
<pk & B F>
A E ¥ G T 1213141 EI=]1E 28 F E T = 171819 & [ = | B
1 WATT B FAREER Dl@d|l@| 2 1 17 a3 EX =ZEETHEE @@ 1 1
2 FIE fi FEHZER 0O|®]| 0 3 : 2 18 WA B ey IrF=2257| 0 @0 2
3 BTN 5p BHRAFE @1 2 19 R EE BERAFE R
4 G2 B Lunet R|R 4
]
B E ¥ = S5[6] 7 BE[=]R G E ¥ il 20[ 2122 B =B
5 B 5 LILAC 01 @®| 1 2 20 =5 1E D =Y @101 2
6 HHE T& HAKRBEKRE @| 2 1 0 1 21 A SHth Lunet 3 olo 3
7 AH K2 FEHCERK 212 0 3 22 H t iRE [EART&FR @@ 2 1
C #E F B S[O|10[B| |8 H E F B 23|24 (25| B[ | IEB
8 RE BEX EART%FR @l @ 2 1 23 INEF SR RBRE @210 2
9 {iik B3¥ BBAT 1 @ 1 2 24| % BA JOHNNY’S | R 3
10| /HEY HE B RER 110 0 3 25 FA [E N LILAC @ | @ 1 1
2
D E ¥ Gl T1[12[13]| B =B T E ¥ Gl 26[27[ 28| E =&
11 ==J 11 BERE @Dl l@| 2 1 26 Bl BE [EART&FR @ 1 2
12 TR Ko FER B 0 110 3 27 E B JOHNNY'’S 1 olo 3
13 AR B Dy ok ) @ 1 2 28 KKt =40 RBRE @@ 2 1
J #E F B 20|30[(31 | B[] IE
29 it BR BERFAKREF @D|l@| 2 1
2 2 30 &R Bt Lunet 3|0 3
31 HH &R J)—ke @ 1 2
E E ¥ Gl 14[15]16] B =& K Z F & = 32[33[34[35] B [ =B
14 BN BE= EHSR @D @ 2 1 32 j=X'-JN LILAC @D|l@D|3]|2 2
15 T B [EARM&FR 310 3 2 X 33 TE 1PEk Dl =Y ) 3 @ 1 3
16 = Bk JOHNNY’ S @ 1 2 34 BE X HEEBLESK | 0| 3 of|o0 4
35 =ik 6% HXFEXRE (@ @@ 3 1
—T8AOREIEF: (3F—LJ—7) D1-2. @2-3. @1-3 AGAF—=LN—=7) D1-2. @3-4. P1-3. @2-4. B2-3. ®1-4
< B £ T F >
A E ¥ il T2 [ 3 [ El=]RB B E F % il 4](5]6 [ E[=]RB
1 5 BXR BERE @Dl l@| 2 1 4 1%EE BT JOHNNY’S @ @2 1
2| #HTF¥3 EEEEg |1 1o |3 5| MEEE |EREFHERE| 1 10| |3
3| s @EE wezm (0| @ 1 2 4 6| #HFEH tEEEE | 1|0 1 2
A N N A e
e 1 =8 Bk REXF —_— 0 i NI BB BB ZER
v 3 211
25{1 6| =mFED RS 1 B %5k BT JOHNNY’S
v 14
—08ADRBIER: (3F—L4LU—7) D1-2. @2-3. @1-3




